( ] 78 THAEE ARBFBEIRGZAZMO 0

= N
Al 48 5H 6A
X7 & B B = |HeE B B B = |HE B B B = |HE

JE {5z HWERE 1,673,801] 100.0 HWEkE 1,669,850] 100.0 HWERE 1,454,435] 100.0
1 i REFEET 264,650| 15.8 | K& EET 283,065| 16.9 | KEFEET 328,560 22.6
2 i SPHEET 238,560| 14.3 | SPHEEAT 253,930 15.2 | SPH#EET 229121 15.8
3 fi h—r—a %85t 181,111 108 | h—x— 3 %EEt 228,934| 13.7| h—x—a fEit 114,570 7.9
4 i INGERET 118,600 7.1 | (X555 97,464 5.8 | IE55EET 98,742 6.8
5 i (X555 106,059 6.3 | thDTEIRLITE 81,327 49 | thDTBEIRLITE 63,107 4.3
6 fi -5 92,895 55| RZ—F R 80,010 48| RA—FR 61,630 42
7 i AA—FR 87,970 53| H—RS 73,969 4.4 | NEEEET 57,900 4.0
8 i hDFEIRITE 68,199 41 | AV ALY 46,475 28| FILOtERE 54,392 3.7
9 {i LY —J7—> 46,920 28| LY —D7—> 45,060 27| H—RS 52,139 3.6
104 UL ALY 45,864 27 | BERMNTAZD 44 371 27| AVTRILDY 45,055 3.1

Z D 422973 25.3 | ZDith 435245 26.1 | TDih 349.219| 24.0

ARl 7H 8H 98
X7 5 | B = |HE & B B = |HE & B B = |HE

JE {5z HWERE 1,506,201] 100.0 HWERE 2,142,371| 100.0 HWERE 1,662,135] 100.0
1 i REHEET 264,830 17.6 | XFEET 429230 20.0| SP#¥E:T 322,593| 194
2 i SPHEET 231,938| 15.4 | SPF$EET 381,260 17.8 | KZFEFHET 310,225| 18.7
3 fi h—r—a fEst 149,713 99 | h—=r— 3 fEst 198,407 93| A—F— 3585t 177,549 10.7
4 i FCE Ry 109,797 7.3 | NEEEET 180,176 8.4 | /NEEEET 113,775 6.8
5 i INGGERET 103,709 6.9 | i DTEARLITE 123,029 57| YAES 83,340 5.0
6 i D EIRLITE 71,826 48| VAES 102,540 4.8 | (X5585t 77,979 4.7
7 I AA—FR 66,770 4.4 | (X55EET 86,543 40| LK 61,136 3.7
8 fi FILatERE 50,849 3.4 | FLOfEE 71,863 34| thDFIRTITE 49,746 3.0
9 {iI AT 2L 41,362 27| R3—FR 71,080 33| AT ALY 46,425 2.8
1041 YAES 38,310 25| AVT ALY 57,362 27| H—RS 43,178 2.6

Z Dt 377,097| 251 | ZDith 440,881 206 | £Dith 376,189 22.6
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£2: K
A5l 10H 11 12
X5 & 8 B 2 [LkE & B B = |[HkkEFE & B B} 2 [Lkk=E

I§ {1 Rk E 1,560,662 | 100.0 HREIRE 1,491,266] 100.0 HREIRE 2,272,317] 100.0
1 fu REFEET 300,932| 19.2 | X&FHEET 279,985| 18.7 | K&E¥EEt 452,987 19.9
2 i SP# %5t 299,132 19.2 | SPH¥EAT 241,144| 16.2 | SPELEET 429,420 18.9
3 i h—%— 3 %EE 177,883 114 | h—xx—13a %EEt 142,193 95| h—F— 3 %EEt 236,210 104
4 i (X555 87,577 5.6 | /NEEEET 88,307 5.9 | /NEEEET 207,640 9.1
5 {i INGGEEET 68,115 4.4 | (X55EE 80,807 54| R2—F R 92,330 4.1
6 i FILatERE 57,509 37| R2—FR 62,970 4.2 | X535t 78,387 3.4
7 i L DEREITE 53,248 34| H—RS 60,460 41| R4A—FE— 64,050 2.8
8 fi -5 51,330 3.3 | FLOtEE 54,604 3.7 | thO—=—FY)TE 62,557 2.8
9 i FUI ALY 48,775 3.1 | thDERLITE 44,183 30| AT ALY 58,221 2.6
101 FToI7—L 46,440 30|A)ToRILRDY 41,980 28| H—RZ 56,550 2.5

Z D 369,721 23.7 | TDih 394,633| 265 | FDith 533,965 23.5

A5l 1A 24 38
X5 i B B 2 |Lk=E & B B = |Hkk=E & B B = |Lkk=E

g {1 HREIRE 1,459,548] 100.0 REIRE 1,478,806| 100.0 REIRE 2,224.341] 100.0
1 fx SP#$EET 270,420| 185 | SPH¥E:T 287570| 19.4| SPH¥EET 352,410| 15.6
2 i REFEE 243,630| 16.7 | X&E%EET 188,510 12.7 | K%%8ET 341,810 154
3 i h—r—a fEst 118,664 8.1 | h—+—a %EEt 143,651 97| h—F*— 3 %EEt 181,323 8.2
4 i A —kE— 110,700 76| RA—FE— 85,700 5.8 | NEHFEET 168,570 7.6
5 {i INGGFEET 64,490 44| H—RS 60,803 41| R41—FE— 134,220 6.0
6 i (X555 57,368 3.9 | /NEEFEET 56,940 39| IE5%EE 104,387 47
7 i H—R3 54,712 37| REF—FR 55,576 38| H—RS 99,823 45
8 {i RA—F R 54,704 3.7 | X385t 55,400 37| R2—F X 88,610 40
9 {i L DERITE 44,721 3.1 | thDBEIRLITE 45,907 3.1 | thDTEIRL)TE 61,212 2.8
1041 ~LOFEE 44114 30|A)ToRILDY 38,310 26| Fa—-1UvJ 56,890 2.6

Z Dt 396,025| 27.3| T D 460,439 31.2| £Dih 635,086| 28.6




( %bLM) SMAFE ARIBRBEIEGLNZM0 ME.
Al 48 5H 6A
X5 Hh B il = |t B = il = [LhE AR = il = |t
JE {5z HWERE 83,660( 100.0 HRERkE 95,185( 100.0 HRERkE 71,619 100.0
1 i LD 60,721 72.6 | DL D 76,993| 80.9 | thDFEE®D 53,176 74.2
2 i IhE 12,347| 148 | Sh&E 11,910 125 | ShE 10,440 14.6
3 fi _TFY 2,370 28| LEH 3,059 32| LEH 3,080 43
4 i P 2,026 24| LIE 2,400 25| LIX 2,227 3.1
5 i LEH 2,024 24 | THLT 263 0.3 | 4 1,180 1.6
6 fi LIX 2,012 24| 220L 220 0.2 | EM 685 1.0
7 i ThIT 1,215 15| X 175 02| 7Hi7 511 0.7
8 fi il 540 0.6 | # 95 01| mx 200 0.3
9 {i 22l 205 0.2 | ¥ 50 0.1] 2oL 120 0.2
1041 £ 100| 0.1 |+ 20 0.0
Z D 100 0.2
ARl 1H 8H 9A
X5 T H iy = |HE B H i = |t B H oy = |HE
JE {5z HWERE 91,728( 100.0 HRERE 104,208 100.0 HRERkE 106,399 100.0
1 i LD 67,192| 73.2 [ LD 72,967| 700 | thDFELD 81,002 76.1
2 i IhE 14749] 16.1 | SME 18,409| 17.7| SME 14,340] 13.5
3 fi LEH 4,236 46 | LEH 6,745 65| LEH 3,936 3.7
4 i LIE 2,024 22| LIE 3,763 36| LIE 3,312 3.1
5 i E 1,235 1.3 | #l 980 0.9 | 4 2,920 2.7
6 i i 1,150 1.3 | & 820 08| EM 460 0.4
7 fi ThT 861 09| 7HL7 454 04| 7Hhi 7 394 0.4
8 fi ZBS 150 0.2 | ZTFY 60 01| ZTxY 30 0.0
9 {iI i 80 01| # 10 00| #& 5 0.1
1041 220 50/ 0.1
ZNith 1 0.0




( &tm) THAFEE ANREBEIRGIASNZXRO WE =
A 5l 10H 11 12
X5 T H H = |[HE R =] # 8 k= R =] #H = [H®
g 1z MR E 107,586 100.0 MR E 110,176 100.0 HERE 325,996] 100.0
1 {u tDRLED 84,864 78.8 | DL D 92,001 835 taDKRELED 115,393| 354
2 fu =hE 12,496 11.6 | SHAE 8624 7.8 111,616 34.2
3 fu LEH 3,194 30| 3,655 33| FmM 44,176] 13.6
4 H 3,178 3.0|LEH 2497 23| 14,770 45
5 fiI L 2278| 21 |LIE 1,848 1.7| SHE 14,089 43
6 fi Thi7 475 04| 7HTT 545| 05| EX 12,208| 3.7
7 I 4 430 04| 1FF 320 03| LE# 4986 1.5
8 fi EES 410 04| EW 270 0.2 H 3,830 1.2
9 fu _TFEY 130 0.1 | # 161 0.1] LIE 3,074 0.9
1041 % 56| O0.1|# 155 0.1 | ¥ 870 03
a2k 75| 0.1 ]| Znfth 100 0.2 £nfth 984| 04
ARl 1A 2H 38

X5 T2 | H B [HE R B # B [HXR R B #® 8 |Hh=
g 1z IR E 54,341 100.0 R E 78,175 100.0 R E 97,777[ 100.0
1 {u thDRLED 34981| 644 |HOKELD 41,270 52.6 | DKL D 56,719 58.0
2 fi ShE 8,997| 16.6 | A& 9,621 123 | =ME 12,432 12.7
3 fu A 3,250 6.0 | #k 8,114| 104 | T7Hi7 8439| 86
4 LEH 2117 39| 7HhL7 6,701 8.6 | #x 7,109] 73
5 fiI L 1,820 3.3 [ 4216| 54| CTFEY 4,585 4.7
6 fi & 834| 15|L&H 1,857 24| LEH 2722 28
7 I £ 820 1.5| M 1,840 24| LIE 2616 2.7
8 fi _T&Y 750 14| CTFEY 1,755| 22| EM 1,800] 1.8
9 fu Thi7 483 09| LIEE 1,690 2.2 | Bk 1,060 1.1
1043z i} 182] 03|40 670 0.9 H 195| 0.2
Z Dt 107 02| £ 441 0.6 | £Dfis 100] 0.1
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wE: #
A 5l 4H 5H 68
X5 AR H H = |[HE R =] # 8 k= R =] #H = [H®
g 1z MR E 80,106 100.0 MR E 86,214( 100.0 HERE 67,288( 100.0
1 {u fth D §57E 34,144 42.6 | D EATE 37,344 43.1 | thE4TE 28,208 41.9
2 fu ftb DERFEHE 13,152 16.4 | tiDERFEHEY 11,959| 13.9 | HDERFEIEY 16,377| 243
3 fu thDARELE 9,232 11.5 | tDOKRKXE 11,713| 13.6 | tBDKKLE 8,407] 125
4 £ MRS DT 6,188| 7.7 |NAKZUTT 8,260 9.6 | CH&IDA 2137 3.2
5 fu )—H—ARIZ=7 3072 38|V—H—ARI=7 4,149 48| Hh5vaT 1,909 238
6 fu —HEIbA 2647| 33|H7vax 2643 3.1 |Y—H—RAXRI=7F 1,581 2.3
7 fu AZ2ax 2589| 32| ChH&ObA 2640 31| NAFSUOT 1,432 21
8 fi D1= 2559| 3.2 |2f 1,699| 20| YR7v 1,416 241
9 fu £3=a7 L 1,172 1.5| Lk 867 1.0] L= 1,020f 15
104z YTy 852 1.1 | EYMR=U7 671 0.8 | 21 7731 1.1
a2k 4,499| 57| XDis 4,269| 5.0 | ZDih 4,028 6.2
ARl 7H 8H 98

X5 AR | H B [HE R B # B [HXR R B #® 8 |Hh=
g 1z IR E 34,404( 100.0 R E 18,767] 100.0 R E 46,119] 100.0
1 {u D §47E 12,317 35.8 | LDEFEHEY 5222| 27.8| fthDETE 18,505| 40.0
2 fi b DERFEHEY 8,856| 25.7 | D EATE 4,850 25.8 | thDERFEHEY 9,161] 19.9
3 fu D AKRAELE 4,208| 12.2| cH&IbA 2,839| 15.1 | thDKRAKER 5251 114
4 fr “HEIbA 2538 7.4 |tDKRELE 1,855| 9.9 | Sh&d0A 2942| 64
5 fiI Ahovax 1,624 47 [AH523aT 777 41| Rybx L 2302] 5.0
6 fi )—H—ARIT=7 1,159 34 [Y—H—RARRI=7 760| 40[#H5ax 1,741 3.8
7 I RER 546 1.6 [ REX 509 27| V—H—RRJ=7F 1,302 2.8
8 fi tUrR—-U7 528 1.5 | Ryb= L 380 20| RI=7 1,282 238
9 fu ~IJ=7 312 09]|Lf 234 12| REX 839 1.8
1043z HRTy 293 09| HARTY 234 12| k5tF 443 1.0
Z Dt 2,023| 59| XD 1,107 6.2 | EDfis 2,351 5.1




( #%1m) S 4EE AREURHBEIERI~NZXR0 YE. %
A 5l 10H 11 12
X5 AR B o = |l T = i = |3 B = o = |l
I§ {1 Rk E 53,533] 100.0 HREIRE 71,1281 100.0 HREIRE 69,326 100.0
1 {i fth D §47E 15,724| 29.4 | D EATE 20,256| 28.5| O TAV 23,009| 33.0
2 fi fth DEREHEY) 10,782 201 | 2954 17,380 24.4 | thDEATE 19,453| 28.1
3 fi DTA 6,747| 12.6 | thDERZFEIEY) 7214 101 | R4 €&F7 6,337] 9.1
4 fi fth D ARALE 6,648| 12.4 | thDAKRKEE 7,162 10.1 | thDERFELEY 4631 6.7
5 fiI Rk L 2,170 41| RALEFT 7,061 9.9 | thDAKEE 3,507 5.1
6 fi ChEIbA 2013 38|23=77— 3,002 42| EVa-L 2476 3.6
7 i a=—J7— 1,893 35| ZH&IHBA 1,747 25| CThE&IBA 2,047 3.0
8 fi hSrax 1,372 26| A3 ax 1,295 1.8|3=77— 1591 2.3
9 fi )—H—RARI=7 875 1.6|U—H—RRIJ=7 1,171 16| A5>ax 1,290 1.9
104 U bR—-1)7 846 16|ovEDa—LA 656 09| VLS 1,105 1.6
Z D 4463 8.3|TDih 4184 6.0| ZDith 3,880| 5.6
ARl 18 2A 3A

X5 AR H iy = |HE B H i = |t B H oy = |HE
JE {5z REkE 31,916| 100.0 RERE 49,773] 100.0 RERE 95,595| 100.0
1 {1 fth D §47E 14,919| 46.7 | D EATE 23,121| 46.4 | D EATE 47157| 49.3
2 i HDERZENEY 4344| 13.6 | thDEEEY 7,752 15.6 | thDEEEY 12,978 13.6
3 fi TV 2036 64| TULT 3612 73| thDAKEE 10,875 11.4
4 fi hSrax 1,891 5.9 [ HDKRKEE 3,130 6.3| SHLIHA 3,063 3.2
5 {i ChEIDbA 1,404 4.4 |Hh3>ax 1962 39| AZvax 2,620 2.7
6 fiI YARIT 1,386 43| Zb&556A 1654| 33| TULS 2464 26
7 fiI TA 1,376 43| Ha4x)7 1569| 32| €53=avLA 2,044 2.1
8 fi th D ARAREE 1,367 43|V—H—ARI=7 1,175 24| V)—H—RRJ=7 1,854 1.9
9 fi F5=a9 L 502 1.6 |HDBA 956 1.9| H4=rU7 1,847 1.9
1041 )—H—ARIT=7F 5000 16| €35=avL 804 16| FrFOEa—L 1,690 1.8
Z Dt 2,191 6.9 | TDith 4,038 8.1 | ZDith 9,003 9.5




( Z0ih)
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s HE: —
Al 48 54 6A
X5 B B o = |l T = i = |3 B = o = |l
I§ {1 Rk E 240,868| 100.0 HREIRE 120,004 100.0 HREIRE 152,571| 100.0
1 {i thDIEH 65,792| 27.3 | thDIEHE 59,653| 49.6 | thDIEE 107,654| 70.6
2 fi thDEEE 51,596 21.4 | HOEFEE 17,986| 150 < J—3—JLFHE 12,722] 8.3
3 fi FRE 24444 101 | <YU—3—)LFHE 11,358 95| HILETHE 9,735 6.4
4 fi HILETHE 21,399 89| HIETH 8,856 74| tDEFRE 9,161 6.0
5 fiI E—< E 16,044 6.7 | RFa1=T7H 4608 38| R—FaThE 5294 35
6 fi <)—I—JLRE 14944 62| R—Fa5hE 4088| 34| FavUE 3,723 24
7 i FaoUE 14,196 59| ¥aoUHE 3,836 32| XNFa1=T7H 1,372 0.9
8 fi (N4 N=:] 12,300 51 |E—< & 3,724 31| FRE 1,288| 0.8
9 fi RFA1=TH 10,665| 4.4|FRAE 3,332 28| FTME 1,150 0.8
104 AAHH 5636 23|r<rE 1632 1.4 ZDith 332 0.2
Z D 3,852 1.7|ZDith 931 08| ZDh 140| 0.1
A Al 718 8AH 9A
X5 T H iy = |HE B H i = |t B H oy = |HE
g {1 HREIRE 31,4111 100.0 REIRE 17,117] 100.0 HWERE 105,261] 100.0
1 {1 thDTEd 24331| 775| thDIEHE 7970 46.6 | thDEFEE 56,769| 53.9
2 i FaoUE 1,356 43| WDFET 6,916| 404 | HBDIEH 27641 26.3
3 fi RF1ZTH 1,252 40| RFa2=7H 812 47| RFa=7H 10,057 9.6
4 i ) —3d— )LFH 1,232 39| FavUE 700 41| <)—d—)LFH&E 5719 5.4
5 fiI R—Fa15hE 1176| 3.7 |R—Fa5h&E 280 16| FavUE 3612] 34
6 fiI thDEERE 858 27| =U—d—JLKHE 280| 16| HIETH 576] 05
7 fiI Z N 386 1.2] 0 159] 1.0| ZDith 495 05
8 fi (NN 297 09 T -8 392 04
9 fi E—< H 216] 0.7
10{iz FRE 195| 0.6
Z D 112] 05




( Z0ih)

A

AEE

ARIERMEIERARAMO

n = —
A5l 10H 11 12
) 5 ] B = |t=E & B B = |HE & B = |t=E
I§ {1 Rk E 182,976 100.0 HREIRE 229,480] 100.0 HREIRE 150,577| 100.0
1 i O S ET:] 117,271 641 | /0P —1 94018 41.0| /AP —H 64,114 42.6
2 i o EH 35,995 19.7 | thDTEE 67,528 294 | thDIEH 58,454 38.8
3 fi N -8 23,750 13.0 | thDEFEH 26,182 11.4| EIFI-AHE 12,390 8.2
4 i RF21ZTFHE 2,380 13| RE—& 24190 105| RE—HE 5,004 3.3
5 {i BEI-AE 1,418 08| EXf-AH 6,334 28| RFa1=TH 4,988 3.3
6 i <) —d—J)LF&E 1,169 0.6 | RFa1=7H 5,636 25| T —H 2,880 1.9
7 i T—-Y—H® 716 04| T7—-—H 4276 1.9 DEFHEH 1,758 1.2
8 fi ZDith 229 01| <U—d—JLF&E 1,024 04| ZhOit 989 0.7
9 i HIIETHE 48 00| Znith 220 0.1
104 HILETE 72 0.0
A Al 18 2H 3H
X5 & B iy = |HE T H i = |t T H oy = |lE
g {1 HREIRE 53,318] 100.0 REIRE 73,9021 100.0 REIRE 211,563| 100.0
1 fx o fEH 26,202 491 | thDTEE 43,673| 59.0 | thDTEE 66,512| 314
2 i N —H 13,971 26.2 | BOFHEE 14,048| 190 | HBDHFEE 42804 20.2
3 fi HhOHER 6,540 123 |/ \oP—H 7548| 102 | +R&E 17,724 8.4
4 i RF21ZTFHE 2,704 51| 57—Y—® 3,422 46| F<rHE 16,548 7.8
5 {i T —H® 2172 41 | RFa=T7H 2,348 32| RFa=TFH 15,262 7.2
6 i RE—&E 1,624 30| RE—H 643 09| ¥aHU#HE 14,672 6.9
7 I Z D 105 0.2 | b<FEA 560 08| ¥ )—d—JLFH&E 11,628 5.5
8 {i T —d—)LF&E 560 08| E—<>HE 10,219 48
9 {i ZDih 400 05| HILETHE 6,876 3.3
104 HILETE 280 04| T——H 5,364 2.5
ZDith 140 0.2 | Dt 3,954 2.0




